N

[ DTIRS % 'lﬁ #E i% §0-0001
EL T 00 B #
HitEL EHMREtE L4 00000000000
EEEH 0
BE4
& F TR 1 R
@ A E X 1A (RBit1) X
Hifi#AA 00-07.04.01(0)
HRERR 8 Ry 75 - 0BG
I774I% WOMEEEEZHKMERS No.15E5 IRy JTB#IE
Lot K B O# AR
AThER 40
MRS 02 JKALERHEER
LRI 00 ZHAZIEiL
HATERES RS | 00 HAEEGRESLELL
ZHYRIIMRIE 01 SEMET
Il
& SHE | 2%
A KBERH 0 KEELZL
1 KEEHY
B IUMBHIBEZHIRS 0 MBI EZHMZ L L
1 IIMEHTE =z HY

00000000000

Sim




4y
s

mfE WK

HEDELE

EES -

2 i

IE%

T =it

WHERIEE

EXRFEIEE

AERVHRE

Rk UHIEE

HmHEEE

HiEE

IEHE

HaRIEE

E=HE

-7

-7

JH—7

00000000000



m W= kB I FE B AR X 008
BE I BILHHE ¥y & |#w| ¥ @ |& @ B %
HRSRET SRR X1000
nER Y1810
1,213,600
#ER | Y2001
1 # 1,213, 600 1,213,600
mEn Y3001
1 # 1,213, 600 1,213,600
BIEBIR > TSR Y4001
1 # 1,213, 600 1,213,600
n—g— Wo00!1
1999 SUs304+Her Ll
Y 1 8 832,000 832,000
27— o001
3005 NBR/ST
Ry 1 8 336, 000 336,000
PAY—LFy b 0001
KTot NBR/SUJ2
R®Y 1 iy 36, 800 36, 800
i o001
o B [
Ry 1 # 8,800 8,800
BRBETS Y10K1006372
1 # 211,798 211,798
EEIEE Y2001
1 # 211,798 211,798
B2 Y3001
1 # 52, 000 52,000
00000000000 g & B




W B E I £ & W R X R0-0004
BE I8 WIAHGE % B || % io| 4 & % %
T Y4001
1 # 52,000 52,000
itk #0002
2 e L
Y 1 # 52,000 52,000
HHH Y3002
i 1 % 159, 798 159, 798
—BEER Y4001
1 % 51,930 51,930
T4 * #0040
___________________________________________________________ A=1,B=1, (=2
mE 51,930
wEEEE RO030
' [0.847(3/1L00%0.828)1 Ll 00
WRERHT BET 0.56 A 23,000 12,880
BRI R2130
E [0.8153/1L\&0.746)1 L. 00
WET 1,42 A 27,500 39,050
RS R Y4001
1 # 107, 868 107, 868
T4 * #0040
,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,, A=1,B=1, C=0
mE 107, 868
i*&m?&ﬁiﬁﬁl R3020
¢ [0.669(3/1L080.699)1 L 00
WREENT 3.56 A 30,300 107, 868
it
211,798
e | 3195=159798+0. 0200
geg-- 159798 ||
:¢ ............ 0 0200
| =% 3,195
00000000000 = B 8




oW % B I T & N R %X H0-0005
BE I BISHHE ey g B | B i | & % & %
R &8 70001
i % 50,715
E 50715=1428593+0. 0355
RREE- 1428503 ||l
............ 0 0355
50, 715
EETERH
265,708
£ % A 20003
% 4,640
LY Sh LIRS SX640
20km ®EB<T Ll * 00
'DIDRM: HY
NyhED0. SnIEADES 0.32 m3 5,500 1,760
mos (RRLE) $9400
eBg<T 00
| 0.32 m3 9,000 2,880 |#T %0 -0001E%
FHBAMILIER 20004
% 0
*ERBAE 20009
| = 182, 000
i 182700=265708%0. 6876
SRR 265,708 |\l
- SO 0.6876
! 182,000
SERRE |
186, 640
MIEE
452,348
RS EER | 262045=452348%0. 5793
SRR 42,348
:ﬁ ............ 0 5793
: # 262, 000
00000000000 = 5 =]




oW % B I T & N R %X H0-0006
BE I BISHHE ey g B | B i | & % & %
EAREE 97081=107868+0. 9000
FIEC 07.868
' % 97,081
2 TR
811,429
TERIE
2,025,029
- peEns 276416=2025029%0. 1361+810 | 17(0. 2617%1.00%0,52) |
T REE- . 025, FHIEEE - 8100 | BIAMEIEEE--- 10000 | .
............ ;@ﬁ:{]ﬁgﬁ 00004
% 271,371
T %
2, 296, 400
TEEE (H)
2, 296, 000
mpEE 229600=2296000%0. 10
WgEE--2.296.000 |l
SO 0. 1000
E % 229, 600
TEE
2,525, 600
BRERTER
2,525, 600
TEE:
2,525, 600
00000000000 = 5 -]




m I W R F §0-0007
BB - BB oL g B f fi B A %
@53‘*4 (L) BI %0 -00015%
89400 1 m3
EBCT
R (hRELE) T9570
BT 1.000 t 9,000 9,000
(1]
1 m3 9,000

kokok BEISHFY K okx

A=2 HILE
B=13 EECT

00000000000




EEREMmM-—-—ER & 0-0008
I—F 2% B 2 Efk | E @ ¥ @ | ST
0.2 4 6 8 (1.3.5 7.9 | &&#| XA
TS0 | W (RRNE) t 9,000 B20
2ECT
(0]
00000000000 B = =




BRREREM -5 X 0-0009

Bffia—F Bffia - Rk - Bk 2 B f - i TEEER N
110001 O—4— 1 832,000 LREENRE

1999 SUS304+HCr
110001 AT—8— 1 336, 000 LRBEENRE

3005 NBR/ST
110001 PAY—ILEy b ® 36, 800 LREENRE

KTO1 NBR/SUJ2
110001 b ® 8,800 LREENRE

YT VAT T SANE460
110002 g ® 52,000 LREENRE

—=x
00000000000 B 5 "




